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UGC NET PAPER 3 NOVEMBER 05, 2017 SHIFT 1 DEFENCE AND STRATEGIC STUDIES QUESTION PAPER

MNote :

This paper contains seventy five (75) objeclive type questions of two (2) marks each. All
questions are compulsory.

Who one amongst the following heads the executive council of the Nuclear Command
Authority and monitors the preparedness of India’s Strategic Forces to respond in accordance
with the approved Nuclear Doctrine :

(1)  Prime Minister (2)  Delence Minister

(3)  National Security Advisor (4)  Deputy Chairman of the Niti Avog

Who amongst the following stated that “the security studies 1s of inclusion rather than
exclusion, of possibility rather than necessity™ .

(1)  Ken Booth (2)  Beverly Crawford
(3)  Jawaharlal Nehru (4) K. Subrahmanvam

The term “Securitizalion’ is related to which one of the [ollowing schools of thought :
(1)  Indian school of thought (2) Copenhagen school of thought

(3)  German school of thought (4)  Russian school of thought

“Freedom [rom fear and [reedom [rom wanl” are related with which one of the [ollowing :
(1)  Lconomic security (2)  Technological interdependence

(3) Detente (4)  Human sccurity

The term “security dilemma’ relates to which one of the [ollowing :
(1)  Sense of insecurily

(2)

(3)  War like situation
@

Sense of insecurity due to increase in the size of opponent’s military capability
False sense of security

Who amongst the following said thal he "wants to inscribe his name on the pages ol history
like a lion with its claws :

(1)  Titler (2)  Mao Tse Tung  (3)  Musolim (4)  Churchill

“The capacily to impose one’s will on others by reliance on effective sanctions in case of
noncompliance” 1s related with the concept of which one of the following :

(1)  National power (2)  Non-alignmenl

(3)  Interdependence (4)  Economic power
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Which one of the following periods had been characterized by military confrontation, arms
races and securily paranoia, and much of the lime by a zero-sum oul look :

(1)  Pre-cold war period (2)  Cold war period

(3)  Post-cold war period (4) ¥ world war period

[he security of the individual “inseparably entangled with that of the state” is related with
which one of the following concepls :
(1) Enwvironmental Sccurity

(2}  Terrorism
(3)  Idealist Concept of National Security
(4)  Societal Security

Which one of the following has been replaced by the Government ol India establishing NITI
Aavog .

(1) Law Comimission (2)  Tinance Commission

(3)  Planning Commission (4)  Human Rights Commission

Which ome of the following is not associated with the concept of “Soctetal Security”
(1)  Barry Buzan (2)  Ole Waever
(3)  Walter Lippmann (4) Jaap de Wilde

Who amongst the following 1s not a member of the National Sccurity Council headed by the
Prime Minister in India :

(1)  Delence Minister (2)  Lxternal Affairs Minister

(3)  THome Minisler (4)  Chiel of the Army

The term "Detente’ related to which one of the following :
(1)  Aggravation of tensions (2)  Inimical postures
(3)  Relaxation in military tensions  (4) Peaceful march

‘One for all, all for one” relates to which one of the following
(1)  Collective Security (2)  Collective Defence
(3)  Social Security (4)  Human Security

[dentify the correct code for the Assertion (A) and Reason (R) as given below .
Assertion (A) : A strong defence 1s the surest way to peace. Weakness invites inimical
postures and eventually war in due course.
Reason (R) : Defence preparedness is a necessary venture on the part of nation-states.
Code :
(1) Both (A) and (R) are correct
) (A) 1s correct, but (R) 1s not correct
(3)  (A) is not correct, but (R} is correct
) Both (A) and (R) are nol correct
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Which one of the following is not the principle of Guerrilla warfare :
(1)  Offensive Action
(3)  Mobility (4)

(2)  Surprise

Defensive Action

Identify the correct code for the Asserlion (A) and Reason (R) as given below :

Assertion (A) ¢ The international and regional situations which sometimes lead to war can

not be altered by mere control on military technology,
Reason (R) :
Code :
(1} Both (A) and () are correct
Both {A) and (R) are nol correct

[here is no conclusive proof that weapons cause war.

)
(3)  (A) is correct, bul (R) is not correct
)

(A) is not correct, but (R) 1s correct

Identify the correct code for the Assertion (A) and Reason (R) as given below :
Assertion (A) : In a war of revolutionary nature, gucerrilla operations are unescapable and
indispensable.

Reason (R) :
Code :

(1) (A) 1s correct, but (R) 1s not correct
2

Guerrilla warlare is a struggle of weak against the strong,.

(2)  (A) is not correct, but (R} is correct
(3)  Both (A) and (R) are not correct
(4)  Both (A) and (R) are correct

Arrange the following i the ascending chronological order and usc the code as given
below

(a)  Weapons of Mass Destruction and Their Delivery Systems (Prohibition of Unlawtul
Activilies ) Act

(b) Zangger Committee was formed by the Nuclear Suppliers Group

(c)  CTBT was signed by the then US President bul remained unratified by the senate
(d)  Missile Technology Control Regime (MTCR) was established

Code :

(@ (b)) () (d)
(1) (@) (b) (o) (d)
(2) (&) (&) (o (d)
(@) (&) () ( (a)
1) (© ) (a) (b
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Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Terrorism 1s an act of violence or threat of violence to instill fear and shock
in the minds of people to extract political, strategic, economic and other
Faims.

Reason (R) : [t is pre-meditated, and 1s not like a natural disaster before which we are
helpless.

Code :

(1) Both (A) and (R) are correct

(2)  Both {A) and (R) are not correct

(3)

(4)

: (A) is correct, but (R) is not correct
4

(A) 1s not correct, but (R) 1s correct

[dentify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : 5o long as nuclear weapons are considered as an international currency of
power and deterrence , nuclear proliferation will remain unstoppable.

Reason (R) : No single weapon has changed the nature of global politics and securily as
nuclear weapons have done.

Code :

(1) (A) is correct, but (R) is not correct

(2)  (A) is not correct, but (R} is correct

(3)  Both (A) and (R) are not correct

)
(4)  Both (A) and (R) are correct, but (R) is not the comprehensive interpretation of (A)

The term SDI stands for :
(1) Strategic Detence Imtiative (2)  Surplus Disposal Initiative

(3)  Strategic Divisionary Initiative  (4)  Strategic Development Initiative

Who one amongst the following argued that “Offensive Action is the master principle of
r
war”

(1) Field Marshal Montgomery (2)  Marshal Foch
(3)  General LE.C. Fuller (4)  Field Marshal Slim

Who among the following thinkers opined that “FEconomy of force is the supreme law of
war’

(1)  Carl von Clausewilz (2) A, Jomini

(3)  B.IL Liddell Hart (4) J.F.C. Fuller

Who coined the term “STAR WARS” ;
(1)  Winston Churchill (2)  Field Marshal SHF] Manckshaw
(3)  Richard Nixon (4) Ronald Reagan
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Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : Fragile cco-svstem of Nepal, deforestation, disappearmg wetlands and rise
of pollution levels has alarmed the environmental experts.

Reason (R) : Changes in the rainfall cycle intense rainfall and droughts have been
recorded by the experls in Nepal.

Code :
(1)  Both (A) and (R) are correct
) Both {A) and (R) arc not correct
(3)  (A) is correct, but (R) is not correct
)

(A) is not correct, but (R) is correct

Match the following organisations given in List - [ with their yvear of establishment in
List - IT by using the code given as under :

List - I List - I1

(Organisation) (Year)
(a) BIMSTEC i) 2010
(b) APEC (i) 2016
(c)  BRICS (i) 1989
(d) AIIB (iv) 1997
Code

(@ ® () (@
1 (v G G G
@ O ) () @)
@) ) v @ @
@ G) O (v G

Who one amongst the [ollowing persons was issued Indian visa and later on cancelled due to
China’s protests, because that person was an Uighur Activist ?

(1)  Komg Quan (2)  Sun Yuxi (3}  Dolkun Isa (4)  Nic Wenjian

Which one of the following is the largest trade partner of India :
(1)  ASBAN (2)  APEC
(3) OIC (4) EU

Which one of the following Articles 1s common to all Geneva Conventions :

(1)  Article 1 (2)  Article 3 (3)  Arlicle 6 (4)  Arlicle 7
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-,
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Who among the following generals of Pakistan, first adopted the presidential system of
Government :

(1)  General Zia-ul-IHag (2)  General Yahva Khan
(3)  General Ayub Khan (4)  General Musharrat

[dentify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) 1 India-China relations do not fall into a simple binary opposition.

Reason (R) : Their relations represent a complex interplay in political, cconomic, security
and other areas.

Code :

(1)  (A) is correct, but {(R) 1s not correct

(2)  (A) is not correct, but (R} 1s correct
(3)  Both (A) and (R) are correct
(4)  Both (A) and (R} arc not correct

Who one amongst the following Sri Lankan leaders was saved during the LTTE suicide bomber
attacks in the Sr1 Lankan Civil War :

(1)  Premadasa (2) Chandrika Bhandaranaike

(3)  Lakshman Kadirgamar (4)  Neelam Thiruchelvam

Who one among the following Pakistani military commanders had organised the tribal raider’s
attack on Kashmir in 1948 :

(1)  General Ayub Khan (2)  General Zia-ul THaq
(3)  Major General Akbar Khan (4)  General Yahva Khan

Malch the following Tamil Eelam groups in Sri Lanka in 1980 as given in List - I with their
respective leaders in List - 1T by using the code given below

List -1 List - II
(Tamil Eelam Groups) (l.eaders)
(aj EFRLF (1)  Kutimani
(b)y EPDP (1)  Uma Maheswaran
(c) TLLO (iif) Douglas Devananda
(d) PLOTE (iv) K. Pathmanabha

Code
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e = FefeiEa el 8§ 9 e 999 d) 9 964 &1 527G 9oTelt =hl SFauea faan
(1) < Tore-3e-gon (2) SR =t @e
(3) ST g @M (4) ST HIEE

A= fau 7u 321 1 ITAN LT U IR (A) SR ok (R) 070 WEl FH2 1 =3 iy -
TUERT (A) . IRd-HH He¥ Tah HH famHrl e =i 9o § 720 &1 |

ek (R) : S TaY oriiaes, ST, Tl 3iR o= &3 o U wifeat 9woR fFar =i gurid
Bl
e -

(1) (A) 921 g, 9fT (R) 937 721 & |
(2) (A) FE T9 g, IR (R) 921 5
(3) ®HI(A }cmT (R) 981 |
(4) 2l

1) M1 (A) $T(R) T2 7 ¥ |

frafafea o o dici=1 & 8 701 %1 Fida 1 80 e 45 H Uel.220.35. o STendl o9 gl = QN
EEIGRIEIEISIE

(1)  YHEHE (2) g YerTrEs

(3)  TIEHT SHICTMHR (4) e faEes

ffefigg 8 & forg o 899 S92t 7 1948 § 997 T Fellclle g9aer] ol Hifaq foha
q7 .

(1) ST 31gs @M (2) ST TSa-3a-2eh

(3) TSR SE STeReR EM (4) S A T

1< faU 7T 2] 1 TN H U G - 1 H 5U M 1980 H iR = a0 sed 998 H gl - 10
H fau U 9 Heltyd Jaiet & | gHferd i
g -1 =il - 11

(after 3o wg) (7))
(a) 3.9ULHARTATH (i)  Hfeafo
(b)  B.HLELAL (i) BH HETAT
(c) ZIE.UaE (iil) STTe™ ZEal
(d) HLUAHLAE (iv) ok, TEHIH
ehe
(a) (b} (e) (d)
L O Gy () (iv)
2y (i) (@) (v) (i)
(3)  (v) () @) (i)
(4) () @v) @) (1)
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Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) @ The India-US Civil Nuclear Initiative removed the detritus of the past from
the bilateral relationship, opening the way lor the transfer of dual-use
technology and enhanced cooperation on defence.

Reason (R) : The initiative also created an opportunity for both countries to discuss,
coordinate, and cooperate on several regional and international issues.

Code :

(1) Both (A) and (R) are correct

(2)  Both (A) and (R) are not correct
(3)  (A) is not correct, but (R) is correct

(4)  (A) 13 correct, but (R) is not correct

Nuclear fission 1s caused by the bombardment of which one of the Foﬂm-ving ;

(1)  Proton (2)  Neulron (3)  Deuteron (4)  Electron

Match the lollowing operations of Indian Navy in List - I with vear of occurrence in List - T,
using the code given below :

List - I List - I
(Operatlions) (Year)
(a)  Operation Raahat 1y 2015
(b)  Operation Lehar (i) 2011
(¢} Operation Blossom (1) 2014
(d)  Operation Bolster (iv) 1994

Code :

@ () (© (@
ay ) @ (v (i)
@) 0 G @ )
@) G @) 0 )
@) v @ @ ©
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A= fou 79 fUeRe (A) SR e (R) & 0 W& 2 &1 999 &I,

MUY (A) : A~ A i 3T AR gl A Tg7el™ Hae ¥ 37dra st s1ensii &1 g
A1 %, SIR W& o fau fgfau-suan drnfient ua g J gig o1 7rl 99 Y
fea 2|

ek (R) TH T2 A SFl <3N o T ek g 3R SIS gel W HH=g 3R §gdn 9
faar-famsl = fou i we staex =1 9o far §

<hd ;

frfafed 9 forg s & g oo & § iy fogeT g 2

s -

(1) HEH (2) gl (3) &A= ()

(=t S =

A= T T 2 =1 JEN HFE - 1 H (90 Hdra 401 o SAT9H] ol "=t - 1 H 19U 70 376k #fd
Bl ok oY H GHITT hifey

el - 1

T - 11

( ATATIT ) (@)
(a)  HATIYH T (i) 2015
(b)  SATILIM ofgd (i) 2011
(¢) ST sefed (i) 2014
(d)  SIEH Sl (iv) 1994
che :

(a) (b} (c)
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Match the f{ﬂhfm-'mg books in [ist - [ with their authors 11 List - 1T and use the code CIven
below :

List - 1 List - II
(Books) (Authors)
(a)  The Exile : The Flight of Osama Bin Laden (i)  Lobsong Gyatso Sithur
(b}  Indira : India’s most powerful Prime Minister (i)  Adrian Loevy
(¢} Nobody Killed Her (11i) Sagarika Ghose
(d)  Exile : Photo Journal 1959-89 (1v) Sabyn Javeri
Code :
@ ®) (© (d
O ) ) @) G
(2) (v) () (1) (i)
(3) ) (v) (D) (i)
@ G 0 @) 6

Arrange the following in the ascending chronological order by using the code given
below

(a) The Formation of ASEAN

(b)  The Formation of Southern Common Market

(¢} The Formation of North American Free Trade Agreement

() The Formation of Gulf Cooperation Council

Code :
1) (a) O ) (@ @) (@) @), O ©
() (b), (c), (a), (d) (4) (o) (a), (d), (b)

Arrange the following events in their ascending chronological order and use the code given
below

(a) Strategic Arms Reductions Treaty

(b)  Trealy of Lisbon

(c)  Comprehensive Nuclear Test Ban Treaty

(d) Chemical Weapons Convention

Code :
(1) (b), (), (d), (¢) (2) (<), (d), (a), (B)
(3} (d), (b), (¢}, (a) (4)  (a), (), (b}, (d)

Which one of the following is not related with the reasons for transterring military technology
lo developing countries :

The desire for domestic arms production

EBeconomic factors

Technological characteristics of arms production

Political instability
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39.  Weit- 14 9 T fEfeied gkl s T - 11§ a0 70 37 o § oo hifsg 3K w4 feu 7y

%< 1 AN HITAT :

il - 1 el - 11

( Edeh ) (i@ )

(a) & ussiEa : g welEe Afw A faq @ (i) e T e
(b) 350 : sfeans Are JatEa ured fufey (i) usfee T
(c) AEie! Fee & (ili) TR =
(d) TERTIZE : Wil SiHel 1959-89 (iv) ETEEd e
EER

(@) (b) (o) (d)
(1) () () (v) (0
(2)  (v) () (1) (i)
(3) () (v) (D) ()
(4) () @ G (iv)

40, = feU T %< Tl FAM F {THCEd i SR H1elshd & TIEN sqafed Hifay
YL ERIENEARIGE
(b) HE FHHA HTehe ] TTSA
(¢) 1 iR Wi 2 Wit &l e
(d) TIEE HISEE FHSHA H T3

che :
(1) (a), (b), (c), (d) (2)  (a), (d). (b). ()
(3) (b}, () (a), (d) (4) (o) (a), (d), (b)

41. = fou U %= w1 wAm W AEfatea Seanse 1 376 SIRET 9 ° sHaferd i
(a) Efefoen sHy igaem 2

(by 2Tl 3T ferea
(c) FHueiaa =IfFrR o 39 2@

(d) HTHFS A9 FTeYH

ehd

(1) (b), (a), (d), (¢) (2)  (e), (d), (a), (b)
(3)  (d), (b), (c), (a) (4) (), (), (b), (d)

42. TrAfafEd 8 8 -1 TR0 7 St o1 faammasiicl 29 &1 geaid i 9 Gai4d 78 ©
(1) 9l A9y JeqIeA i g5
(2) eTf¥eh hreh
(3) g Sced w1 Uiy s
CYIERIE ClIGE R TG
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The “‘Shangrila” dialogue is held annually in which one of the following cities :

(1)  Bangkok (2)  Manila (3)  Singapore (4) Kuala Lumpur

Who one amongst the [ollowing encapsulated the concept of “Security Communities” :
(1)  William Wohlforth (2)  Karl Deutsch

(?"}) Farucd 731{_3]’"ia (—1-) (._:;id{:.‘(.-}u ROSD

Who one amongst the following scholars [ormulated that “Throw light on an old problem.
The old problem is the elimination of war” :

(1)  Karl Deutsch (2)  Carl Vou Clausewitz

(3)  Micheal Sceehan (4)  Armold Wolfers

The “Blue Flag” joint air force exercise will be held between :

(1) 4 nations (2) 7 nations (3) 6 nations (4) 2 nations

Which one of the following reefs / islands is not situated in the South China Sea :

(1)  Mischiel Reef  (2) Subi Reef (3)  Thitu Island (4) Kai Island

[dentify the correct code for the Assertion (A) and Reason (R) as given below .

Assertion (A) @ DProliferation of WMD weapons by a member of states meant that war had
become such a threat to humanily that it needed to be eliminated, before il
climinated the human race.

Reason (R) : If human civilization wants to survive, humanity would have to climinate
war as a social institulion.

Code :

(1) Both (A) and (R) arc correct

(2)  Both (A) and (R) are not correct
(3)  (A) is correct, but (R) is not correct

(4)  (A) is not correct, but (R} is correct
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TAfafEd | 9 g vt § gfq = "iften' |are smEied fear a1 2

(1) <=i® (2) HHAT (3) TR (4)  FEAATCTIL

e o 9§ foea ' guen aqe’ o1 afdared T ?

(1) fofemm e (2) =Tel =gA
(3)  HiC Sl (4) firg= I

ffafaa o o foeg fagm =7 sfawfea fean fo © quet w09 ) genmt erfaw | gt 90 43 &1
AT AT

(1) =Tel 44 (2) =TS AR A
(3)  Toorer Taga (4) AHlee ATHH

%‘gﬁ[\nﬁm’ SREn q|ii{qﬁ| s1ore Fefafaa <o = == fan e

(1) 4% (2) 7% () 6% (4) S5U%

(42

efafEd 9uEr <2/ 8Y 99g | O hI9-91 U G470 99 9 ° stafeed T8 §

(1) Tog=ie % (HHaE =2m) (2)  geil Ik (9Hdl =)
(3) fag 3 (4) W g

A TeU T AR (A) 3R @k (R) & 1070 WET &2 &1 94 i

ATUHIT (A) : A1 o U U5H <h GRI S0, UH. 1. TUIRI ] THR § A9 © [ g5 9Te
U Wk UHT @ 949 ek 2 Toh 399 A o 98 Ad S & A W <, 3
g fRT ST =T STE9HFar © |

T (R) : AT A AT o] FATE T =R & dl W] bl Tah Aol H2l o &9 4 I3
[ FHTE HIAT AT |

(1) =Ml (A) IR (R) & 2
(2) THEI(A) 3R (R) T&T 78 © |

(3) (A) T T, AR (R) Wl 7

(4) (A) T T T wifF (R) T ¥ |
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49. Match the following books given in List - I with the authors in List - I with the help of code
given below :

List - I List - II
(Books) (Authors)
(a) The Century of Total War (iy ~ Michael Sheehan
(b)  The Anarchical Society : A study of (ify ~ Barry Buzan

order in world politics

(c) People, States and Fear (iify Raymond Aron

(d)  International security : An Analytical (iv) Hadley Bull
Survey

Code :
(a) (b) () (d)

() O (W (1)

(2) () (v) @) ()

(3) ) (v @) ()

¢4 @ G () (1)

50. ‘Nine -Dot Line" relates to which one of the following :

}_.

) Demarcation of China’s Claim in South China Sea

[

(
(2)  Demarcation of China's Claim in Fast China Sea
(3)  Demarcation of Japanese Claim in Fast China Sea
(4)

4 Partition of the Korean Peninsula

51. Match the following books in List - T with their authors in List - IT by using the code given

below :
List -1 List - II
(Books) (Authors)
(a) The strategy of conflict (1)  Muhammad Akbar Khan
(b)  Neither a IHawk Nor a Dove (1)  Kathy Scott-clerk and A. Levy
(¢}  Rarders in Kashmir (ii1)  Khurshid Kasuri
(d)  The Attack on Taj (iv)  Thomas Schelling

(a) (b) ()
@
(iv) (D) (@) (i)
(i) (iv) (i) ¢
(i) (@ v (
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49. A T Tz T FEEd | gt - 19 < T Eh Bl G - 11 H A0 S i@l | gaferd
At

o

Ll - 1 Tt - 11
QUSED ( *ITeren )
(a) T U AT e an (i) HEHA YEH
(b) < TRfaee W ;U =l A 31X (i) =R S
3 doe ildicad
(c) HIve, w&eE TS R (i) TS T
(d)  FEHA THeRIE] « UA uATerfeshel Fe (iv) B g
<hd
(a)  (b) (c) (d)
(1) (v) (@ (i) (i)
(2) () vy @) ()
(3) () (v) @) (1)
(4) () @) () (iv)

50, ‘AEA-2i2 oA’ faetatgd § 9 ey Jeiig ©

(1) =ferr == | =i % TMd =] HHH

(2)  GE-E G H W % T T HHE

(3)  gA-HIA "R H S & < ] HHRA
(4) IR TEad 1 faursH

— =

51. = 18U T4 %2 =1 I9ANT =L g Gl - [H & T8 YKIehI ol Gl - 11 H afiiq 3756 eieh o 91y
HTETT =TT

gelt - 1 gt - 11

(TwTeh ) (erEe )

(a) < LS ATh AT () HeHHe s W
(b) T T R AR T 2 (i) e THe- A Us U]
(c) Y=H ¥ FHTHI (iii) g HE
(d) < 31k AT ars (iv)  ATHE gt
<hd ;
(@) (b) (o) (d)
(0 Gy (i) fiv)
(2)  (v) @) (1) (i)
(3) () @) ) ()
(4) () @ (v) (i)
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If changed, which para-military force of India is likely to guard India-Myanmar border
relieving Assam Rifles :

(1) ITBP (2) CRPF (3)  BSF (4)  Border Guards

Which one of the following US destrovers recently was involved in a accident with a container

ship :
(1)  US5 Okinawa (2)  USS Fitzgerald
(3)  USS Abraham Lincoln (4)  USS Guadal Canal

The term "Regional comprehensive cconomic partnership” often appears in the media in the
context of the relations of a group of countries known as :

(1)  G-20 (2) ASEAN (3)  SCO (4)  SAARC

What does 'BAT represent ?

(1) It is a special group which specialises in mountainous warfare
(2)  Ttis a group which specialises in desert warfare

(3)

(4) Il is a rogue force of heavilv armed terrorists and army regulars

It is a group which specialises in jungle warfare

[dentify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A) : India is the only major power that deoes not have an integrated Delence
Production Manual or what advanced countrics call the RIDA @ Resecarch,
Development and Acquisition system.

Reason (R) : It only has a Delence Procurement Procedure (DPP) , which overlooks R
and D and domestic production and facilitates an import-oriented culture,

Code ;

(1)  Both (A) and (R) are not correct

(2)  Both (A) and (R) are correct, and (R) is the correct explanation of (A)
(3)  (A) 1s correct, but (R) 1s not correct

(4

(A) is not correct, but (R) is correct

The first nuclear weapons test carried out by the People’s Republic of China (PRC) in October
1964 was code-named as :

(1)  Project 596 (2)  Project-Thunder
(3)  Project 599 (4)  Project RMA
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At gitem= 2T € 11 G-I W R gRA @ fau e TEEd & ToH W) At 5 9
G- T T HI A T T
(1) .21 (2) WLHARTWLUR  (3) HLTHIE (4) @l M=

fr=fafaa § ¥ g smd=t faswEss 501 +1 81 &1 Wk sherd Uld o H19 T §s

(1)  G.UH.TH. Sifehara (2) JUH.TH Fres
(3) . UHTH 3TFRH Tcish (4) FUHTH TSA FHA

LY,

<9Il °F Toh 9HE  Hedl o "oy | Hifedw d TR AR < Al | gF A S |gen’
wregrere] =1 fEfeled o | 8] S @
(1) S - 20 (2) wfEEE (3)  THEHLAL (4) @k

‘s fefafea § o fage guiar g2

(1) 9% U fa99 90 § Sl Jedid g ol § fow gerar v §

e IR g5 el § Ta9y 2e7ar v

(3) T 9T ST 4 well H fou Sid TE §

(4) 7% ardt sl § gafsE sndsarfsal oIk o9 =t Fafoa cwfeal 1w g aa ©

—
[~
e
M
Iy

= feu mu afusRem (A) 3R A (R) & TaT W& %2 1 =97 Fi9T
34'&@91? (A) : HITT U HTA W EE <"||'59r"'|-€||*~?’1[ {I'b-*’ o \rEJ*Idn Uid Uk kdnlﬂ'uri & 3l H*‘»I*—IIGEUI
el & e o faenfoa U 21T, ; Ty, Tasm e SAfm=or gomet &

ek (R) : qg hadl Uah el | gonelt (SLHLAL) TEa €, S STHHE Ud fdehrE qen
SRE] SCIET i STegal FHidl W § S Ueh 37 - AT el SRt =1 99 a=m@
Tl

che :

(1)  THI (A) 3 (R) T2 72 €1

(2) =AT(A) 3R (R) ¥ E, 3IT(R), (A) 1 W =AEAT B

(3) (A) T T, TR (R) T2 7 2

(4) (A) Te1 721 &, IR (R) 921 5

STHZSN 1964 H =M STT=E] TR (91.5REL ) <k 51 999 T19hTg 916 =67 001 fefeiEd § 9
foh e T e 919 | oy 74 o ¢

(1) W3 596 (2) TNTEE-¥ET (3)  HISTERE 599 (4) TIEZ SR U U



www.prepp.in Prepp

59,

60.

61.

62,

63.

Your Personal Exams Guide

The PPP Initiative refers to which one of the following :
(1)  TPublic Policy Papers (2)  DPublic-Private Partnerships

(3)  Privale Procurement Production (4) Personal Production Proposals

Who one amongst the [ollowing opined that “ a nalion has security when il does not have to
sacrilice its legitimale interests o avoid war and is able, if challenged, to maintain them by
war’

(1) M. Howard (2) Il Bull (3)  Waller Lippmann (4) Ken Booth

Which one of the following 1s the oldest Defence Public Sector undertaking shipyard :
1)  Garden Reach shipbuilders and Enginecers Limited.
2)  Cochin Shipyvard Limited.
3)  Hindustan Shipyard Limited.
) Mazagon Dockyard Limited.

What does "HEAT” stands for 7
(1)  High Electronic Aerial Transponder.

(2)  High Explosive Aerial Transponder.
(3)  High LExplosive Anli Tank.
)

(4)  Tligh Electrical Antt Targeting,.

Which one ot the f()ﬂ(fn«ring 1s not mcluded i the Developmental expenditure of the central
government :

(1)  Defence expenditure,

(2)  Expenditure on economic services.
(3)  Lxpenditure on social and communily services.
(4)  Grant lo states.

Match the following nuclear power station given in List - I with the states in which they
were established in List - IT and use the code given below :

List - I List - II
(Nuclear Power Stations) (States)
(a) TAPS (1)  Tamil Nadu
(b)  RAPS (1)  Uttar Pradesh
(c) MAPS (1)  Maharashtra
(d)  NAPS (iv) Rajasthan
Code :

(@) (b) () |
(1)) @ Gv)
(2)  (v) () @) ()
) B OO (VA LV

) (i) (iv) (1)
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9L, T2l TefeiEd ° 9 frad Hefud
(1) wfeser qifas Td (2) qfeeTeh-Trgele Ty
(3)  UEHZ-GIRIH~ IS (4)  TETE YR TS

eafarfaa | o 75 fores Fom o1 T v T2 geen TEal © 919 9% 745 § 994 o (@0 3799 =39

&l oAl AfcTgM el hidl SR Fie Al < Sl & a1 391 g5 o g o4 W § 9em g g
(1) T FEe (2) WA T () FEXfadm (4) FA Y

Freifera § | 21 EsrH AT &7 HISSI e &5 39shH TIehE ¢
(1) mred = Rufaesd Ts gsifd @es

L i (B O e
(2)  FHHEM WS [THIS

A ey Lt i i
(3} TESEM YIS [elHds
I EUIE R E T ERGI R

‘L I A e £ 7

1) ¥% soreif ufre givdies
2) B USRI e Zigiet
3) TR vEga Ul I

4y Bl gelfergael TaT 2R

(
(
(
(

frafefad § 9 %19 %% TR & fawmEeds =@ ° wfte 7@ ©
(1) &=

(2)  iden TeEm W

(3) wrHIfSER SR HHER a7 Sy

(4) T I STIEH

Tt=r fe 4 ha WWHW 19 feo
Feh TITUd Tohdl ST el T4l | JATAd shifse

gl - 1 el - 11

fetaa ooy faega Sal 1 gEt - 1 fog 7

( wTTo foRrd whe ) (TT=7)
(a) <LEYLTE. (i)  dfferre
(b) AR UHLTE. (i) IR g<H
(c) UH. T Y. TH. (111)  Helltg
(d) TATYLTE. (iv) TTSTEIH
che :

(a) (b) (o (d)
() () (1) (v) (i)
(2)  (v) () (1) (1)
(3) (@) () () (iv)
(4) (i) (i) () (i)
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Which one of the following countries is collaborating with India, for the development of
“Advanced Medium - Range Surface -to-Air Missile System”™ :

(1)  Israel (2)  South Korea (3)  USA (4)  Russia

PAD and AAD systems are related to which one of the following :
(1) Missile Launcher (2)  Ballistric Missile Defence System

(3)  Radar Svstem (4)  Assaull Rifile

Which one of the following thinkers has stated that “in a world in which military conflict
between major states is unlikely, economic power will be increasingly important in determining
the primacy or subordination of states” :

(1)  Samucl P. Huntington (2)  Adam Smith
(3 E H, Canr (4) F. W. Carter

What 1s Greased lightning - 10 7
(1
2

‘ Llectric plane tested by NASA
(
(3
(

)
) Solar-powered two-seater aircraft designed by Japan
) Space observatory Launched by China
4)  Reusable rocket designed by ISRO

Which one of the following is the best description of INS Astradharini :
Amphibious warfare ship

Nuclear - powered submarine

Torpedo Launch and recovery vessel

Nuclear - powered air craft carrier

In which one of the following places 'TNS Chennat” was launched in the vear 2016 :
(1)  Cochin (2)  Chennat

(3)  Vishakhapatnam (4)  Mumbai

Which one of the [ollowing forums made the “Tortaleza Declaration™ :

(1)  ASEAN (2) BRICS (3) ORCD 4)  WTO
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Read the following passage given below and answer Q.No. 71 to 75 based on vour understanding :

[he best place to begin in trving to understand the situation between India, China and Bhutan
at Doklam 1s the an overview of the terrain in question, Which had never made international
headlines before this summer. First of all, the area in question labelled as the Doklam plateau is a
better-known piece of disputed territory between Bhulan, a tiny Himalayvan kingdom of less than
a million people, and china. Instead, the arca 1s perhaps best disambiguated from the plateau by
referring to it as the Doklam triboundary or Doklam triborder area (also sometimes known as the
Dolam Plateau). At the core of the dispule 1s the question of where the [inal triboundary point - the
point at which India, China, and Bhutan meet - lies.

What's critical in this scenario is the recognition that the India-China border in this area,
where Sikkim meets the Chumbi Valley, a dagger-like protrusion {from southern Tibel, is settled
and undisputed between the two countries. Both India and China agree that while they have
disputed borders in Arunachal Pradesh and in Kashmir, the Sikkim sector border has long been a
scttlod matter. Thus, this standotf is not and never was about a disputed border between  India
and China. This, in the Chinese view makes it different from recent high-profile border incidents
between the two countries in 2013 at Depsang and in 2014 at Chumar , both sites near therr
mutually recognized line of Actual Control. This also helps explain why the Chinese reaction to
this incident has been so exceptionally negative when china defeated India in a major war al their
Himalavan border. Despite the tense situation between India and China, the border dispute in
question that complicates the triboundary question is between Bhutan and China. The two countries,
who do not have official diplomatic ties, have held 24 rounds of diplomatic talks over therr various
border disputes. (Bhutan has the distinction of being the sole country to neighbour China that
doesn’t have normal diplomatic lies.)

Despite these long-running talks, the Doklam triboundry area dispute had been one of
lower-profile boundary disputes between Thimphu and Beijing. Both countries have given relative
prioritv to other disputed sectors in their lalks, including the Doklam Plateau, which sits farther
north , sandwiched between the Chumbi Valley and the rest of Bhulan.

The Bhutan-China border, once scttled in this scctor, would mecet the Indian border at a
perpendicular angle, east-to-west ,and [inalize the triboundry point bebween the three countries,
Bhutan claims that the triboundry point lies at a location known as Batang-la, some four kilometres
north of the Doka La pass where the standoff between Indian and Chinese troops is ongoing,.
China, meanwhile, claims the triboundry point at Mount Gipmochi or Gvemochen, a point some
two-and-a-half kilometres south of the Doka Ta pass . Mount Gipmochi marks the terminus at the
Indian border of what New Delhi regards as a strategic redline: the Jampheri ridge, which marks
start of the descent into the foothills of southweslern Bhutan that then lead into the strategically
vital Siliguri Corridor.

71.  What is the disputed territory between Bhutan and China ?
(1)  Sikkim (2)  Chumbi Valley

(3)  Doklam Plateau (4)  Barahoti
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Is there anv dispute between China and India on Sikkim Sector ?

None as vet
All dispules settled
Yel to be settled by demarcation on ground

None of the above

» many rounds of diplomatic talks have occurred between Bhutan and China 7

Innumerable
Diplomatic talks yet to take place as Bhutan has no diplomatic relations with China
Twenly-four rounds of talk have laken place

Six round of talks

If Bhutan-China Border Dispute is settled what will it lead to ?

(1)
el
)
4

[t will finalized the tri-boundary point between the three countries
It will further complicate border dispute between India and China
It will Tead to recognition of the Macmohan Line as border between India and China

Bhutan will become a part of India

What does China claim to be Tri-boundry Point ?

(1)
(3)

Dok-la pass (2)  Mount Gipmochi
Jampheri Ridge (4)  Siliguri Corridor
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